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O SUMH HEus ZAe
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O AdEot g€t Us JA=g
1,000,0002 *23] 2,000
O SUMoH HgHe == As ARES
- 3,000,000& 3,000
202 04l 5,760 800 4,960
01 =LHA LI 5,760 800 4,960
O SUoH ol ASE &
0,0003 4 +6 12042 5,760
207 ARl 60,000 0 60,000
01 A S| 60,000 0 60,000
O SUHMHHE AHE ASEEI EY
60,000,000& *13] 60,000
M E A2 HIH 25 171,568 113,763 57,805
AAON B B2 171,568 113,763 57,805
A E QtEE21ake| 171,568 113,763 57,805
201 er23| 140,568 92,333 48,235
01 AtR2te|HI 140,568 89,333 51,235
O td2AeXt HEF2
5,500« 180 122 11,880
O & MUY sttt AL
2,500,000& 2,500
O ZAMoH o et &
5,000,000& *12] 5,000
O B2 MAHETEH Y DS A 9
& u=s 10,000,000& *13] 10,000
O Gt E A HEXIE K=
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01 ML ESF SHI 1,000 6,000 /5,000
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LIS HHXIE 700,000 600,000 100,000
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UIPIETSE— 700,000 600,000 100,000
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